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N.B.: (1) All questions are compulsory
(2) Each question carries equal(20) marks.
(3) Draw neat diagrams wherever necessary.

1. Attempt any two of the following:
(a) 'People respond to incentives'. Explain with the help of three examples.
(b) 'Ttis more efficient to organize economic activity through markets’. Explain.
(c) Is there a trade off between inflation and unemployment? Explain.

2. Attempt any two of the following:
(a) Identify the role of assumptions in economic analysis.
(b) Explain the difference in approaches between positive and normative
economics with the help of three examples.
(c) - Plot the graph for the following function:
Y=2+5X

3. Attempt any two of the following:
(a) Given the demand schedules of two individuals, derive the market demand
schedule and market demand curve.

Price Individual A Individual B
(in Rs.) QuantityDemanded (in units)QuantityDemanded (in units)
60 3 5
50 5 6
40 | 7 8
30 9 12
20 | 11 15

(b) Explain graphically the steps to analyze the changes in equilibrium when
the supply curve shifts to the left.
(¢) What is a price floor? When is it effective?
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4. Attempt any two of the following questions:
(a) Explain the concept of '‘Comparative Cost Advantages' with the help of
an example.
(b) Write a note on the policy of 'Free trade'.
(c) Given two countries A and B, producing two goods gems and mobile -
phones, the schedule of cost of production is as per the table below;

Goods Hours needed to produce 1 unit of the good
Countries Gems Mobile phones
Country A 10 hours 25 hours
Country B 20 hours 10 hours |

()  How many units of gems and mobile phones can the countries
produce in 100 hours?
(i) Draw the production possibility curves of both these countries.

5. Attempt any two of the following:
(a) How does 'opportunity cost' affect decision-making? Explain this with
the help of two examples.
(b) Explain the Circular Flow of Income model.
(¢) Explain the relationship betweer: price elasticity of demand and total revenue.
(d) Write a note on 'Absolute Cost Advantage' principle. Explain with the
help of two examples.

(Tt BuTeR)
(3 @) (T UT:R00)
gaan: (2) W U S R4
(3) TR TEATET WHE(R0) U1 TR,
(3) omEvy® Y Gaw AHA HEl.

¢, Wieliats) HiveaTEl drget s s
(37) ‘HrcaTEATen @i uieEre dar ® A S 9eeaH e .
(@) HRIER SR IumAE AENH w0 afus s e, WK
1.
(%) TEEaTE M SO IreAHEd THedA TEd H17 T H.

[ TURN OVER

h




|

3 QP Code :762202

R. WA HICATE Fgre SR T
(37) mmmmm
* @) W Ierewiea gerEAn Seqfss g Il sresfse erdvme
| 1 gfewmivdie B W w0
(%) WiElE BEUEl ARG T ;-
Y=2+5X

_ ‘@ gl
(¥ i HET1(Thh) T ()
. 60 3 5
e 50 5 6
. 40 7 | 8
30 9 12
20 11 15

(@) Sieg1 [Aa 9% SEhe Thdl o8] HgeMMEd I ogdl BIsel ool
- fveue e STeiETeAT HERAT TS WL
(%) mmmm«awmm?

. = Y, @ﬁﬁaﬂﬁmm:ﬁim: |
| (1) TRl HERAHE ‘A @" W R deeur wse WL
(@) ‘god SR arer IR fou famn
(%) ‘3 IO W, § G W T A AEEA B A G TR I
UAaTd @i=dT IeTed WHE Uk @i decame) e Img.

l | U I TS IACAER] AEWEH AR ™
j 1= ! e B
.o®» ‘ oo o Gt R0 ™ RY
} ; o s T R0 TG

v

(2) zoom%mwmmmmwﬁmﬁam
adfier ?
*~ () mmmmwaﬁm

[ TURN OVER




4 ' QP Code :762202

W, @Wﬁaﬂaﬁrmmﬁt I feran
(31) ﬁﬂwww(éﬁvﬂm)aéwqﬁwmm %ﬂﬁm
TEAN T H.

) mmmmmm

(%) uvwﬁmmﬁwmwmm?ﬂammm

(3) ‘FOy @€ o TEUS HE. § CF SRSl UERAW TR &4,

i

€




